LogilLink. Bedienungsanleitung C13

BP0O034
TV-Wandhalterung
Low Profile

Fior 23"-42" TV

» Verpackungsinhalt

TV-Wandhalterung x1
Schrauben aus dem Paket x1

Stellen Sie das Gerat immer auf eine stabile und gerade Flache. Bei Stiirzen kann es beschadigt werden.
Setzen Sie das Gerét nicht direktem oder hohen aus, da dieses sonst ebenfalls
beschadigt werden kann oder sich die Nutzungsdauer verkiirzt.
Stellen Sie das Produkt nicht in der Nahe von Warmequellen wie Heizkdrpern oder anderen Wérme erzeugenden
Geréten auf.
Setzen Sie das Gerat nicht Regen, Wasser, Nasse oder hoher Luftfeuchtigkeit aus. Stellen Sie es nicht im
Badezimmer oder in der Kiiche neben einem Wasch- oder Spiilbecken auf und vermeiden Sie auf alle Falle
direkten Kontakt mit Wasser.
Versuchen Sie nicht das Gerét zu &ffnen.
Bitte fertigen Sie vor der erstmaligen Verwendung unseres Produktes eine Datensicherung an.
Wir haften nicht fiir den Verlust von Daten, es sei denn, es ist uns Vorsatz oder grobe Fahrldssigkeit vorzuwerfen.
In jedem Falle ist die Haftung bei Datenverlust auf den Aufwand beschrankt, der notwendig ist, um anhand
vorhandener Sicherungskopien die verlorenen Daten auf der Anlage des Nutzers wiederherzustellen.
Herzlichen Gliickwunsch zum Kauf dieses Produkts!
Lesen Sie die Anweisungen und Warnhlnwelse in dieser Bedlenungsan\eltung sorgfaltig durch, bevor Sie das
Produkt zum ersten Mal verwenden. Bei | g kann es zu 1 des Gerates kommen.
Elektrische und elektronische Geréte diirfen nach der europaischen WEEE-Richtlinie nicht mit dem Hausmdill entsorgt
werden. Deren Bestandteile miissen getrennt der Wiederverwertung oder Entsorgung zugefiihrt werden, weil giftige
und bei die Umwelt nachhaltig schadigen kénnen.
m Sie sind als nach dem (ElekiroG) 3 und Geréte am Ende
ihrer Lebensdauer an den Hersteller, die oder an dafiir o
kostenlos Zuruckzugeben Einzelheiten dazu regelt das jeweilige Landesrecht. Das Symbol auf dem Produkt, der
weist auf diese hin. Mit dieser Art der Stofftrennung,
Verwertung und Entscrgung von Altgeréten leisten Sie einen wichtigen Beitrag zum Schutz unserer Umwelt.
Achtung: Uberschreiten Sie die maximal gelistete i itét nicht. kann es zu

und Sachschiaden kommen!
Hinweis: Lesen Sie die gesamte Anleitung, bevor Sie mit Installation und Montage beginnen.

A WARNUNG

+ Beginnen Sie die Installation nicht, bevor Sie die in dieser Anleitung und gelesen und
verstanden haben. Falls Sie Fragen zu einer Anweisung oder Warnung haben, wenden Sie Sion bite an Ihren ériichon Handler

« Diese Halterung sollte ausschlieRlich wie in dieser Anleitung angegeben. installiert und genutzt werden. UnsachgeméRie
Installation kann Schaden oder emsthafte Verletzungen verursachen.

+ Dieses Produkt sollte nur von einer Person installiert werden, die iber i 3hi sowie
Bauerfahrung verfiigt und diese Anleitung komplett versteht.

+ Dieses Produkt kann auf Wanden mit massiven Beton

- Stellen Sie sicher, dass die tragende Flache die kombinierte Last aus Geréit und samtlicher angebrachter Hardware und
Komponenten sicher tragen kann

« Uberschreiten Sie die maximale Lastkapazitat nicht

« Ziehen Sie die sicher und fest. ( étige Ki kann Artikel ¢ und ihre
Tragkraft deutlich reduzieren

+ Dieses Produkt ist nur firr den Einsatz in Die g im Freien kann Produktfehler und
Personenschéden verursachen.

ALieferumfang

Wichtig:

Stellen Sie vor der Installation sicher, dass Sie alle Telle entsprechend dem Lieferumfang erhalten haben. Falls etwas fehlen oder
defekt sein sollte, wenden Sie sich zum Austausch bitte an Ihren ortlichen Handler.

M4x14 (x4) M5x14 (x4)
M-A

o o e o

M6x14 (x4) M8x15 (x4)
A(x1) B (x2) M-C M-D

© ©

D5 (x4) D8 (x4) . 3 C
o e W-A (x4) W-B (x4)  W-C (x4)

A Massivwandmontage

= = =
v X X

— =

Alnstallieren der Wandhalterung an der Riickseite des TV

M-A/M-B
M-C/M-D

A Montage des Fernsehers an der Wandplatte

OO

AP

r

]

—

®

®




LogiLink. User Manual GD

BPO034

Low Profile
TV Wall Mount
For 23"-42" TV

» Package Contents

TV Wall Mount x1
Screw Package x1

» Safety Instructions

Put the device always on a stable and straight surface. It will damage the device if it falls.

Don't place the device into direct sunlight or in places with high temperature. This will damage the
device or shorten its average lifespan.

Don't place it near heat sources like radiators or other heat producing devices.

Don't expose the device to water, moisture or high humidity.

Don't place it in the bathroom or the kitchen near a sink. Avoid direct contact with water.

Don't try to open the device.

Prior to the first use of our product make a backup of your data.

In the case of improper use, we are not liable for any loss of data.

In any case, liability for loss of data is limited to the effort that is necessary to restore from existing
backup copies.

Congratulations on the Purchase of BP0034!
Please read the manual and safety Instructions before using the product for the first time. Otherwise
damage may result.

waste. Its components must be recycled or disposed apart from each other. Otherwise contaminative and hazardous
substances can pollute our environment.

You as a consumer are committed by law to dispose electrical and electronic devices to the producer, the dealer, or
public collecting points at the end of the devices lifetime for free. Particulars are regulated in national right. The symbol
on the product, in the user's manual, or at the packaging alludes to these terms. With this kind of waste separation,
application, and waste disposal of used devices you achieve an important share to environmental protection.

‘CAUTION: DO NOT EXCEED MAXIMUM LISTED WEIGHT CAPACITY. SERIOUS INJURY OR PROPERTY DAMAGE MAY OCCUR!
Note: Read the entire instruction manual before you start installation and assembly.

A WARNING

« Do not begin the installation before you have read and understood the instructions and warnings contained in this installation
If you have any questions regarding any of the instruction or warning, please contact your local distributor.

« This mounting bracket should be installed and utilized ONLY as specified in this manual. Imprope installation may cause damage
or serious injury.

« This product should only be installed by someone of good mechanical ability, with basic building experiences and fully
understanding of this manual.

« This product is designed to be installed on solid walls.

« Make sure that the supporting surface will safely support the combined load of the equipment and all attached hardware and
components.

« Do not exceed the maximum load capacity.

« Tighten screws firmly and properly. Over tightening can damage the items, greatly reducing their holding power.

« This product is designed for indoor use only. Using it outdoors could lead to product failure and personal injury.

E According to the European WEEE directive, electrical and electronic equipment must not be disposed with consumers

A Package Contents

IMPORTANT:
Ensure that you have received all parts according to the package contents prior to installing. If there is any parts missing or faulty,

please contact with your local distributor for a replacement.

M4x14 (x4) M5x14 (x4)
M-

o e o o

oo o

M6x14 (x4) M8x15 (x4)

A(x1) M-C M-D
© © 5)
D5 (x4 D8 (x4
MfXE) M(_XF) W-A (x4) W-B (x4)  W-C (x4)

A Solid Wall Mounting

=1 (= =
v X X

— =

A Install Wall Mount to the Back of the TV

NG i i

®

A Apply the TV with Wall Mount to the Wall Plate

"
j(?i ff

\

]




LogiLink. Manual De Usuario G

BP0O034

Soporte de pared de
TV Perfil bajo

Para 23"-42" TV

» Contenidos del Paquete

Soporte de pared de TV x1
El paquete de tornillos x1

» Instrucciones de seguridad

Coloque el dispositivo siempre en una superficie estable y recta. En caso de caida puede ser dafiado.
No coloque el dispositivo en la luz del sol directa o en lugares con temperaturas altas. Esto puede
danar el dispositivo o acortar su vida util promedio.

No lo coloque en un futuro préximo de las fuentes de calor, como radiadores o otras fuentes de calor.
No exponga la unidad a la lluvia, el agua, la humedad o alta humedad.

No lo coloque en el bafio o la cocina en la cerca de un fregadero. Evite el contacto directo con agua.
No trate de abrir el dispositivo.

Antes de la primera utilizacion de nuestro producto una copia de seguridad de sus datos.

Nos no hacemos responsables de cualquier pérdida de datos, a menos que usted nos puede acusar
intencion o negligencia grave.

En cualquier caso, la responsabilidad por la pérdida de datos se limite al esfuerzo que sea necesario
para restaurar a partir de copias de seguridad existentes.

Felicitaciones a la compra de LogiLink BP0034!
Por favor, lea el manual de instrucciones de seguridad antes de utilizar el producto por primera vez.
De lo contrario el dafio puede ser el resultado.

E De acuerdo con la directiva europea WEEE, equipos eléctricos y electrénicos no deben desecharse con los residuos a

Ios consumidores. Sus componentes deben ser reciclados o eliminados separados unos de otros. De lo contrario las

sustancias contaminante y peligrosa puede contaminar nuestro medio ambiente.

Usted como consumidor se han comprometido por ley a disponer de dispositivos eléctricos y electrénicos para el
mmm productor, el distribuidor, o puntos publicos de recogida al final de Ia vida de los dispositivos de forma gratuita. Datos

estan reguladas en el dérecho nacional. El simbolo en el producto, en el manual del usuario, o en el embalaje hace

referencia a estos términos. Con este tipo de separacion de residuos, aplicacion y eliminacin de residuos de

aparatos utilizados a lograr una participacion importante a la proteccion del medio ambiente.

PRECAUCION: NO EXCEDA LISTA DE PESO CAPACIDAD. GRAVES LESIONES O DANOS A LA PROPIEDAD PUEDE OCURRIR!
Nota: Lea el manual de instrucciones antes de iniciar la instalacion y montaje.

/\ ADVERTENCIA

« No comience la instalacion antes de haber leido y entendido las i y
Si usted tiene alguna pregunta acerca de cual delasi iones o
distribuidor local. .

« Este soporte de montaje debe ser instalado y utiizado UNICAMENTE como se especifica en este manual. Una instalacion
inadecuada puede causar darios o lesiones graves.

« Este producto esta disefiado para concreto sélido.

« Este producto solo debe ser instalado por una persona de buena capacidad mecanica, con las experiencias de construccion
basicos y totalmente la comprension de este manual

« Aseglrese de que la superficie de apoyo sostendra, con seguridad, la carga combinada del equipo y todos los herrajes y
componentes.

+ No exceda la capacidad maxima de carga.

* Apriete firmemante y corfectaments tomis. Si se aprista demasiado pueds dafiar los ariculos, reduciendo enormemente su
fuerza de fijacion.

* Este prodiucto est disefiado para uso en inferiores. Su uso en exterores pocria causar falas del producto y lesiones
personales.

, por favor péngase en contacto con su

A Contenido del paquete

Importante:

Asegurese de que ha recibido todas las piezas de acuerdo con el contenido del paquete antes de instalar. Si hay alguna pieza que
falta o defectuosa, péngase en contacto con su distribuidor local para obtener un reemplazo.

M4x14 (x4) M5x14 (x4)
M-A

[ R s i e Y e Y

o o o

M6x14 (x4) M8x15 (x4)

A(x1)

© ©

D5 (x4) D8 (x4)
M-E M-F

W-C (x4)

W-A (x4)

W-B (x4)

A Montaje en pared soélido

| —a=

= = =
v X X

— =

Alnstalar montaje en pared a la parte posterior del televisor

M-A/M-B
M-C/M-D

®

A Aplicar la TV con soporte de montaje en la placa
de pared

.
I(G ff

\

]

—



LogiLink. Instrukcja obstugi G

BPOO34

Telewizor do montazu
na Scianie, Low Profile

> W zestawie
Telewizor do montazu na $cianie — 1 szt.
Pakiet Screw — 1 szt.

» Instrukcje z zakresu bezpieczenstwa

Urzadzenie powinno zawsze sta¢ na stablinym i paskim podioz. Upadek moze spowodowa uszkodzenie urzadzenta
D dziatanie stonca, anl stawia¢ w miejscach gdzie narazone byloby na dziatanie
wysoklch Wysoka moze ie lub znacznie skrécic okres jego
uzytkowania.

Nie nalezy pozostawiat urzadzenia w poblizu zrédet ciepta takich jak grzejniki czy wydmuchy.

Nie nalezy wystawia¢ urzadzenia na dziatanie deszczu, wody, wilgoci ani wilgoinego powietrza.

Nie nalezy pozostawiac urzadzenia w kuchni ani w fazience w poblizu kranu. Nalezy unika¢ bezposredniego kontaktu z

oda.
Nie otwiera¢ obudowy urzqdzema

Przed ia zaleca sig i kopii danych.
Nie odpowiadamy za utrate danych oile uz ik nie y podstaw nas o celowy zamiar lub powazne
zaniedbanie

W kazdym takim przypadku odpowiedzialnosc na utrate danych jest ograniczona do podjecia niezbednych dziatan w celu
proby danych z plikéw zapasowy
Gratulujemy zakupu urzadzenia BP0034!
Przed uzyclem nalezy zapoznac sigz |nstrukc|q oraz zasadam\ i ia z
moze ¢ do

wypadku moga
srodowiska
m—— Prawo iazuje kazdego do ni ) zwracania zuzytych i niepotrzebnych urzadzen
do 6w, pos sprzedaty b do punkiow zamijacych sig uylizacie
tego typu odpadow, Szczegdlowe warunki reguluia przepisy danego kraju. Powyzszy symbol umieszczony n
produkcie, w insirukefl bylkawnika b i opakowani nawizzuje o (ego wiatnie wymogu. Daiski wiasciwe) segregac]l
sie do przepisow utylizacji odpadow, kazdy uzytkownik przyczynia sie w znaczacy
aposob do ochrony &rodomicka
UWAGA: NIE PRZEKRACZAC MAKSYMALNEJ DOPUSCZALNEJ MASY. W PRZECIWNYM WYPADKU MOZE DOJSC DO
URAZU LUB USZKODZENIA WLASNOSCI!
UWAGA: Przed rozpoczeciem instalacji nalezy zapoznat sie z niniejsza instrukcja.

& UWAGA

« Nie rozpoczynat instalacji przed przeczytaniem i zrozumieniem zalecer niniejszej instrukcji oraz ostrzezeri w niej zawartych.
W razie pytari dotyczacych polecer lub ostrzezen nalezy skontaktowac sie z lokalnym dystrybutorem.

« Niniejszy uchwyt mozna zainstalowa¢ WYLACZNIE zgodnie z poleceniami zawartymi w niniejsze] instrukcji. Nieprawidiowa
instalacja moze prowadzi¢ do urazow lub powaznych zniszczen.

+ Produkt ten przeznaczony jest o litych Scianach betonowych.

« Montaz powinna i¢ osoba § iczne oraz dos ie w zakresie
majsterkowania, ktora w pefni rozumie zalecenia niniejsze] instrukcji.

« Nalezy sprawdzi¢ czy powierzchnia przeznaczona na montaz uchwytu jest odpowiednia do utrzymania obciazenia uchwytu oraz
projeklora wraz z jego osprzetem.

« Nie nalezy
« Sruby nalezy mocno dokrecic. Nie nalezy dociskac $rub zbyt ciasno by nie uszkodzic powierzchni, moze to obnizy¢ jej
wytrzymalose.

« Produkt preeznaczony wylacznie w uzytku wewnatrz pomieszczer. Stosowanie go na zewnatrz moze prowadzié do urazow lub
uszkodze

A Zawartos¢ opakowania

WAZNE:

Przed przystapieniem do instalacji nalezy sprawdzi¢ czy w opakowaniu znajduja sie wszystkie elementy zgodnie z opisem. Gdyby
w opakowaniu brakowato elementu lub gdyby znajdowat sig tam element uszkodzony, nalezy zgtosié sig do dystrybutora.

M4x14 (x4) M5x14 (x4)
- M-B

Zgodnie z Dyrektywa WEEE, urzadzen v razem z odpadami
E domowego jest zabronione. ich czesci skiadowe podiegaja recyknzaql Iub nalezy je wyrzucac osobno. W przeciwnym
dla

oo o T o

MBx14 (x4) M8x15 (x4)
M-D

© ©

D5 (x4) D8 (x4)
M-E M-F

A Mocowanie na scianie

|—a

= = E=
v XX

—

A Zamontowa¢ uchwyt scienny z tytu telewizora

M-A/M-B
M-C/M-D

A Zastosuj sie do montazu na scianie telewizor z
ptyta sciennag

\ 4

1

n

Il

—

®

®




